(AR (1/8)

(% @& | on<LFVA
(7 | DEBRAE
% & |H1200
E 1040 (F@)
| B@EES | KFTH02242

— Q3
T =0

O&HER (178

1040
45 943 57
0 &5
(ol /fg;
/%EY
NI
| el
= =a
S ‘
T T
© é@é) @ o) &

650

koo

0450

BUN (1720

Brhfl. &EE Ok
) EROARXIESETETT .

BE i B B (mm) It g i 2

1 AR ¢ 60.5x13.2 STK400 s ot

2 Sdnlie ¢ 60.5x13.2 STK400 @70 fi@?iﬁ%mg)
5 FlExey 7 t1.6 SPCC ’ ) i

4 FERR (RAED 50x64.5 ABOB3S B imE (180 g

5 FMERR GifD 50x64.5 ABOB3S B (80 HE

6 P B I 2 25x60 ABOB3S Wi (116 IR

7/ HMALL AR 0.5 SGC BERRER (RBiHo- %)
8 fil%ey 7 - ASA -

9 Rivy 7 ¢ 16/ 40y -

10 Hel t4 ATV LA -

11 %8 t4 ATV A -

12 WEe8 13 ATV A -

13 AEY K $15 ATV LA -

14 ACY KRy %Y ¢ 19A CR -

15 SPED 16 SPHC BERNER (FBiHo- %)
16 by 6 SPHC BENRER (RBio- %)
17 I $12 SGD BRldsn - &

18 kY IREE t3.2 SPHC BERRER (RBHH- %)
19 gy 4x 20 ATYUA -
20 Eg 12 E3i -

21 SERTEE T t1.6 SGH BENRER (RBio- %)
22 Py t2 AB063S. EPDM -
23 Eff A b M10x 100 4,018 Baldsay o &
24 " M10x7/5 4,618 BRiBgo - &
25 " M8x 80 ATV LA -
26 " MB8x 75 ATYUA -
27 FIANRY M4x 10 ATYULA -
28 Bz M4x 10 ATYUA -
29 4382y M4x 15 ATV LA -
30 K72 by if- H52 HH54NA b -

C) BRERIHROLY., TEREET B LAHVET,




